LS

___fleet

Mack Rear Suspension - Single Axle

Mote: For suspensions w/straddle mount ~ 15
type bushings (RB-259), see Volvo, /t For Use with
12 ; Radius Rod Spring

Call us if you can't find or identify the part you need



Mack Rear Suspension - Single Axle

Part # Description OEM # Price Note
16 62-219 15 Leaf Spring (12/3) 4QK3328 Radius Leaf Type
$440.00 Spring
16 62-179 9 Leaf Spring 4QK3345 /
25115534 $359.63
16 62-187 11 Leaf Spring 4QK3346 /
25124851 $396.59
16 62-027 8 Leaf Helper Spring 5QK246 /
25156936 $125.97
M1012 Hanger 47QK4124 $98.40 3" Wide Springs
Hanger 47QK4157AM
Spring Pin; 1 1/4"OD x5 44QK211BM Double Lock
M5178 5/8"Lg x4 1/8" c/c $18.10
3 Adapter, Grease Fitting ~ 49AX50
to Spring Pin; 5/8"-18 x
MB476S 1/8"-27 NPT $5.91
4 Fitting, Straight Zerk; 1613B,
G1803 1/8"-27 NPT 44AX115 $0.84
5 Bushing; 1 1/4"ID x 1 245764
OGB-RNG 1/2"0D x 3"Lg $9.01
6 M1024 Hanger; 9/16" Bolts 48QK488 $159.44 3" Wide Springs
6 M1474 Hanger; 5/8" Bolts 48QK4103M $139.94
Pin, Rebound; 3/4"0OD X  44QK27P1
M5386 67/8"Lg $6.83
7 Pin, Rebound; 3/4"OD x  31AX363U
M4894 53/4"Lg $9.15
8 M542 Bracket, Helper; 3-Hole 49QK35A $29.70 3" Wide Springs
11 Plate, Wear; w/o Taper;  24QK239P3
M472 8" x51/2",1/4" Hole $12.20
11 Shim, Steel Camber; 3" x  24QK239P18
M1072 8"x2 $19.55
12 Kit, U-Bolt; Round Bend, 7QK3147P9 7/8"x3"x161/2" R
AUBK8161-164  Grade 8 $44.97
12 Kit, U-Bolt; Round Bend, 7QK3147P14 7/8"x3"x191/2"R
AUBK8161-194  Grade 8 $48.10
14 Spring Pin; 1 1/4"OD x5 44QK143CP1 Left Hand Side
M4748 11/16"Lg x4 7/32" ¢/c $13.56
15 Kit, U-Bolt; Round Bend, 7QK3125P1 7/8" x 311/16" x 24"
AUBK8163-24  Forged Top, Grade 8 $13034 R

Call us if you can't find or identify the part you need



15

AUBK8163-22

Kit, U-Bolt; Round Bend, 7/8" x311/16" x 22"
Forged Top, Grade 8 $11546 R

Call us if you can't find or identify the part you need



